

The Values of $\cos\left(\frac{\pi}{5}\right)$, $\cos\left(\frac{2\pi}{5}\right)$, $\cos\left(\frac{3\pi}{5}\right)$, and $\cos\left(\frac{4\pi}{5}\right)$

Shoichi Midorikawa

Let

$$\theta = \frac{2\pi}{10} = \frac{\pi}{5},$$

then

$$x_k = e^{ik\theta} \quad k = 0, 1, 2, \dots, 9$$

are the solutions of

$$x^{10} - 1 = 0$$

$$\begin{aligned} x^{10} - 1 &= (x^5 - 1)(x^5 + 1) \\ &= (x - 1)(x^4 + x^3 + x^2 + x + 1)(x + 1)(x^4 - x^3 + x^2 - x + 1) \end{aligned}$$

Hence

$$x = \pm 1, \quad x^4 + x^3 + x^2 + x + 1 = 0, \quad \text{or} \quad x^4 - x^3 + x^2 - x + 1 = 0$$

1 Solutions of $\pm 1 = 0$

$$x = 1 \Rightarrow \cos 0 = 1$$

$$x = -1 \Rightarrow \cos \pi = -1$$

2 Solutions of $x^4 + x^3 + x^2 + x + 1 = 0$

$$x_{2m} = e^{2im\theta} = e^{2\pi im/5} \quad m = 1, 2, 3, 4$$

Hence

$$\begin{aligned} &x^4 + x^3 + x^2 + x + 1 \\ &= \left(x - e^{2\pi i/5}\right) \left(x - e^{4\pi i/5}\right) \left(x - e^{-4\pi i/5}\right) \left(x - e^{-2\pi i/5}\right) \\ &= \left(x^2 - 2\cos\left(\frac{2\pi}{5}\right)x + 1\right) \left(x^2 - 2\cos\left(\frac{4\pi}{5}\right)x + 1\right) \\ &= x^2 \left(x + \frac{1}{x} - 2\cos\left(\frac{2\pi}{5}\right)\right) \left(x + \frac{1}{x} - 2\cos\left(\frac{4\pi}{5}\right)\right) \\ &= x^2 \left(x^2 + x + 1 + \frac{1}{x} + \frac{1}{x^2}\right) \end{aligned}$$

Let

$$Y = x + \frac{1}{x}$$

Then

$$\left(Y - 2 \cos\left(\frac{2\pi}{5}\right)\right) \left(Y - 2 \cos\left(\frac{4\pi}{5}\right)\right) = Y^2 + Y - 1 = 0$$

Thus

$$\begin{aligned} \cos\left(\frac{2\pi}{5}\right) &= \frac{Y}{2} = \frac{-1 + \sqrt{5}}{4} \\ \cos\left(\frac{4\pi}{5}\right) &= \frac{Y}{2} = \frac{-1 - \sqrt{5}}{4} \end{aligned}$$

3 Solutions of $x^4 - x^3 + x^2 - x + 1 = 0$

Solutions of

$$x^4 - x^3 + x^2 - x + 1 = \frac{x^5 + 1}{x + 1} = 0$$

are

$$x_{2m+1} = e^{i(2m+1)\theta} = e^{(2m+1)\pi i/5} \quad m = 0, 1, 3, 4$$

Hence

$$\begin{aligned} &x^4 - x^3 + x^2 - x + 1 \\ &= (x - e^{\pi i/5})(x - e^{\pi i/5})(x - e^{3\pi i/5})(x - e^{-3\pi i/5}) \\ &= \left(x^2 - 2x \cos\left(\frac{\pi}{5}\right) + 1\right) \left(x^2 - 2x \cos\left(\frac{3\pi}{5}\right) + 1\right) \\ &= x^2 \left(x + \frac{1}{x} - 2 \cos\left(\frac{\pi}{5}\right)\right) \left(x + \frac{1}{x} - 2 \cos\left(\frac{3\pi}{5}\right)\right) \\ &= x^2 \left(x^2 - x + 1 - \frac{1}{x} + \frac{1}{x^2}\right) \end{aligned}$$

Let

$$Y = x + \frac{1}{x}$$

Then

$$\left(Y - 2 \cos\left(\frac{\pi}{5}\right)\right) \left(Y - 2 \cos\left(\frac{3\pi}{5}\right)\right) = Y^2 - Y + 1 = 0$$

Hence

$$\cos\left(\frac{\pi}{5}\right) = \frac{Y}{2} = \frac{1 + \sqrt{5}}{4} \tag{1}$$

$$\cos\left(\frac{3\pi}{5}\right) = \frac{Y}{2} = \frac{1 - \sqrt{5}}{4} \tag{2}$$

4 Summary

$$\cos\left(\frac{\pi}{5}\right) = \frac{1 + \sqrt{5}}{4}$$

$$\cos\left(\frac{2\pi}{5}\right) = \frac{-1 + \sqrt{5}}{4}$$

$$\cos\left(\frac{3\pi}{5}\right) = \frac{1 - \sqrt{5}}{4}$$

$$\cos\left(\frac{4\pi}{5}\right) = \frac{-1 - \sqrt{5}}{4}$$